Reinquadratische Gleichungen

1. a) x*=64

e) x* =400

2. a) x*=0,16

e
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4. a) 2x>=98
e) -1—><'2 = 32
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5. a) 4x2—100=0

e)3x*-14=0

b) X2 = 25

f) x2=225
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b) x2 =80
f)x2=2,1
b) 3x2 =108

f 1x2=3
3

b) 5x2 + 80 = 0

f)8x*+16 =0

a)(4x—1)72=(x-4)>

C) (6x +2)2=(3x + 4)% + 4(1 - x)

e)(x+5)(x-5)=(2-x)(2+x)+3

g) 5x* =125

g) 2,4x* = 9,6

C)5x2-245=0

g) 9x2-81 =0

d) x2 =324

h) x2=1

d) x2 = 0,01
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h) %=
484

d)x? = 4,5

h) x2=2
3

d) 9x* = 36

h) 0,1x? = 25,6

d)2x*-25=0

h) 0,3x2 - 2,7 =0

b) (x+3)(x—-3)=(6-x)(6+x)+5

d) (4x — 3)% = (5x — 2)2 — 4(x + 1)

.f) (7x — 6)(5x — 2) = (6x =9 - {(~16x ~ 22)



Reinquadratische Gleichungen — Losungen
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